8.6l

8.61 What horsepower is added to water to pump it verti-
cally through a 200-ft-long, 1.0-in.-diameter drawn tubing at a
rate of 0.060 ft*/s if the pressures at the inlet and outlet are the
same?
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8.67

8.62  Water flows from a lake as is shown in
Fig. P8.62at a rate of 4.0 cfs. Is the device inside |
the building a pump or a turbine? Explain and
determine the horsepower of the device. Neglect
all minor losses and assume the friction factor is

0.025.
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Note: Since hy>0 the device isa pump.

Also,
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